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(1)

(2)

French
EJVoniy

Kovniy
EVoniy
*Kvnig

1o sokye
*1o skye
lo dogee
*lo dge

Czech
Ioket

*lokt

lokte
*lokete
loketnii
*loktnii
domek
*domk
domku
*domeku
dometfek
*domtfek
*dometfk
*domtfk
dometfku
*domtfku
*dometfeku
*domtfeku

A

come back
id.
id.
id.

the secret
id.
the degree
id.

elbow NOMsg
id.

id. GENsg

id.

id. adj.

id.

house NOMsg
id.

id. GENsg

id.

ssignment

39 to 1o don
ftolo don
ftoldon
*{ tlo don
*{t1don
39 tle don
*209t1don
39 ta1don

Polish
vojna
*vojena
vojen
*vojn
vojennt
*vojnni
buwka
*buweka

buwek
*buwk

id. dimin. NOMsg buwetfka

id.
id.
id.
id. dimin. GENsg
id.
id.
id.

*buwtfka
*buwetfeka
*buwtfeka
buwetfek
*buwtfek
*buwetfk
*buwtfk

I give it to you

id.
id.
id.
id.
id.
id.
id.

war NOMsg

id.

id. GENpl

id.

id. adj.

id.

bread roll NOMsg
id.

id. GENpl

id.

id. dimin. NOMsg
id.

id.

id.

id. dimin. GENpl
id.

id.

id.



€)

(4)

()

(6)

German
?inaras

*nrs
?inros
?inars

Moroccan Arabic

ktib
*Kkitib
*ktb
*kitb
kitbu
*kitibu
*ktibu
*ktbu

Czech o —uu
nuuf

*nof
no3e
*nuuze
nuufki
*nofki
nuuzek
*nozek

Czech VV-V
3aaba

*zaba
3ap
*3aap
3apka
*zaapka
3abek
*zaabek

inner neut.
id.
id.

write pf 3m sg
id.
id.
id.
write pf 3m pl
id.
id.
id.

knife NOMsg
id.

id. GENsg

id.

scissors NOMpl
id.

id. GENpl

id.

frog NOMsg
id.

id. GENpl
id.

id. dimin. NOMpl

id.
id. dimin. GENpl
id.

?inarli¢
*Pinrlic
?inarsto
*?inrsto

kittib
*kttib
*kittb
*kttb

Polisho -0
krova
*kruva
kruf

*krof
krufka
*krofka
kruvek
*krovek

Polish 3 —¢
zomp
*zemp
zemba
*zomba
zombek
*zembek
zompka
*zempka

internal
id.
most internal

use to write pf 3m sg
id.
id.
id.

cow NOMsg

id.

id. GENpl

id.

id. dimin. NOMsg
id.

id. dimin. GENpl
id.

tooth NOMsg

id.

id. GENsg

id.

id. dimin. NOMsg
id.

id. dimin. GENsg
id.
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(7) French ATR French [9] — [€]
fet to party lsg moysale to cut into pieces, infinitive
*fet id. *moysele id.
fete id. infinitive moysel to cut into pieces, 1sg
*fete id. *moysol id.
mety meter moyseloma id. noun
*mety id. *moysoloma id.
metyik metrical apale to call, infinitive
*metyik id. *apele id.
aleyt alert (noun) apel to call, 1sg
*aleyt id. *apal id.
aleyte to alert, infinitive  apeloxa to call, future 3sg
*aleyte id. *apoloka id.
seloki celery SOVEe to wean, infinitive
*seloki id. *sevie id.
betokav turnip SEVE to wean, 1sg
*betosav id. *SoVE id.
SoKENn serene SEVEOKa to wean, future 3sg
*soken id. *soveoka id.
sesenite serenity soviajz id. noun
*seyenite id. *seviasz id.
sowenoma serenely

*soKenoma 1d.



Questions

1.

Under (1)-(4), you may observe vowel-zero alternations in five different languages. For
each language, determine the distribution of vowels and zeros. Give your result in form
of SPE-type statements with a structural description known from rewrite-rules, but do
NOT try to figure out which alternant is underlying.

How many different types of vowel — zero alternations are represented by these data?
According to which parameter(s)?

Nota: alternations may be optional or obligatory, this is an additional parameter
illustrated by the data, but which is of no interest here.

It is not reasonable to assume that there are different vowel-zero alternations in nature
that share all properties except one, but are instances of distinct phonological
mechanisms. Rather, theory is called to be able to express the cross-linguistic variation
encountered by a single device which is endowed with a parameter.

Conceive of such a theory within Government Phonology. If you can, do the same within
another theoretical framework. The mechanism you develop should not bear any
disjunctive statement in its structural description.

You will now have to decide which underlying representation you grant to the
alternations.

Under (5)-(6), various segmental alternations in Polish and Czech are presented: they
concern vowel length, two nasal vowels and [9] vs. [u]/ [uu]. Determine the context in

which the different alternants appear (still using SPE-type rewrite-conventions), but do
not try to figure out which alternants are underlying.

The contextual conditions that you have established for (5)-(6) are identical with a subset
of those that control the data under (1)-(4). Assuming that this cannot be accidental, try
to accommodate the new facts within the theory of vowel-zero alternations that you have
proposed under 3): you will have to enlarge the scope of your mechanism so that it can
cover both vowel-zero alternations and those that engage alternants none of which is
zero. Try to conceive of a theory which is as restrictive and general as as possible, and
does not contain any disjunctive statement in its structural description (or the
representative thereof in non-SPE-terms).

Under (7), two French alternations are introduced, one concerning the ATRness of the
mid front unrounded vowel, the other engaging schwa and [¢]. Describe the context in

which the different alternants occur (still using SPE-type rewrite-conventions), but do
not try to determine the underlying identity of the alternating objects.

The contextual conditions that you have established are identical with the ones you know
from a subset of vowel-zero alternations and (5)-(6). Can you conceive of a unique and
uniform mechanism that covers all alternations that are controlled by this highly specific
context?

The major challenge raised by (7) is the fact that French is not a Slavic language. If
identical contextual conditions must be ascribed to a single phonological cause, is it
possible to "export" the typical analysis practised in Slavic so that it covers the French
data as well? If not, what could be an alternative?

Try to develop a theory that is as general enough to be able to treat all data that are
governed by the same context in a way that they do not appear as accidentally related.
Use the tools of Government Phonology or of any other theory you wish.



